
Calculus II

Concavity and Convexity

Find the values of a for which
y =n"- (x+12x +5x +7

isconcave upward or downward.

Also determine thepoint ofinflexion.

sol y =u" - (x +12x+5x +1 -0
I

dy - 42- 184+244 +5
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1- 0,150(2,0)



for concave downward.
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Curve is concave downwardfor
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y =0

12x4 - 36x +24=0 (from 4]

x
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2x - x +2 =0

x(x - 2) -(x - 2)
=0

x =1,2.

dy nn - 36 [from

forcl
=(n(1) - 36 =

- 1270

form asa =24(2) - 36 =1270



=> R=1, 2 are pointofinflexion.

forty =u" - (x+12k+5x +7

y =1 - 6 +12 +5 +7 =19.

foruz y =(2)" - 6(2) +12(2)
+5x +2

=16 - 648 +12X4 +10
+1

=16 - 48 +48 +10 +7 =33.



i. Point ofinflexions are

(2,19)h(2,33)A


